Preesens, imperfekti, perfekti ja pluskvamperfekti. 
Valitse kuhunkin lauseeseen sopivin annetuista vaihtoehdoista.

Ned’s Two Languages
Ned 1 ... languages. In fact, he 2 ... bilingual. He was born in Finland, but neither of his parents 3 ... Finnish. His mother, who is the youngest daughter of Dutch merchants, 4 ...  to Finland at the age of seven. Ned's mother 5 ... in Finland ever since although her parents 6 ...  to their homeland a decade ago. So Ned 7 ... Dutch from her mother, what about his other mother tongue? Thanks to the American roots of Ned's father, Ned also 8 ... fluent English. Ned's father 9 ... in Finland anymore, but they 10 ... each other regularly. 
Recently Ned 11 ... a lot about his two languages, but deciding which one is stronger 
12 ... impossible. According to Ned in the past he always 13 ... in English when he 14 ... his father in Minnesota, but now for some reason it 15 .... 'Maybe I 16 ... so deeply that I 17 ... my dreams,' Ned 18 .... 'There 19 ... times in my life when one of my languages 
20 ... to be forgotten a bit. But that's nothing I should worry about.'

1	A always loved 	B has always loved 	C have always loved 	D is always loving
2	A is 		B are 		C was 		D were
3	A is 		B are 		C have been 		D had been
4	A come 		B have come 		C was coming 		D came
5	A has lived 	B live 		C had lived 		D lived
6	A returns 	B return 		C returning 		D returned
7	A was learning 	B learn 		C learned 		D have been learning
8	A is speaking 	B speaks 		C have spoken 	D were speaking
9	A haven't lived 	B isn't living 		C don't live 		D doesn't live
10	A visit 		B visits 		C visiting 		D has visited
11	A has been thinking 	B is thinking 		C was thinking 	D had been thinking
12	A seemed 	B had seemed 	C seems 		D seem
13	A dreams 	B is dreaming 		C dreamed 		D was dreaming
14	A visits 		B is visiting 		C has visited 		D was visiting
15	A stops 		B has stopped 	C stop 		D have stopped
16	A has slept 	B was sleeping 	C have been sleeping 	D sleeps
17	A didn't remember 	B doesn't remember 	C am not remembering 	D don't remember
18	A is saying 	B says 		C was saying 		D say
19	A have been 	B has been 		C are being 		D are
20	A seem 		B is seeming 		C seems 		D have seemed
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